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Maths Knowledge Organiser

Prior Knowledge (v2 unit 2, 3)

Structures .and Representations

Use related number facts

Part-mwhole M.odel

Bar Model

Year 3: Addition .and Subtroction

. Compare number sentences PJ,CLCQ, Value Grid

M.ake numher honds to 100 H T 0
Add .and subtract ones .and

tens

. Add a 2-digit and .o I-digit
nuumber

. Subtroct a |-digit .number from
a 2-digit nuwmber

@ @ 273 74

@ 347

Add 3-digit .and |-digit .numbers

Start with the lar. rumber (343) .and count on how much
is bheing odded (6). The answer is the numhber that is reached.

343 + 6 = 349

316 + 8 = 324

316 8

i

Subtract 3-digit .and [-digit numbers

Start from the ones, With
subtract each .colwmn 5 - 8 wmowld give us a negative
in turn. number, s0 we re~group. Exchange
one 10, so we now have |15 - 8 = 7.
%8 - 4 = 26l |45 - 8 = 137
H T (@)
Hlllldl'ﬁl Ten Ones EEEE soooo
0 000 0066
0 0000066 H T 0
EEE T
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Maths Knowledge Organiser Year 3: Addition .and Subtraction

3-digit numbers and 2-digit numbers 3-digit rumhbers =iy

Add and subtract tens Estimate 167 — 89

NUt CrUSSlﬂg Use near numbers 1770 — 90 = 80

Hundred Ten Ones 679 — 351 = 328
Near numbers:
QO QOO0 |O
e eoe 0000|0000 I N .
451 - 4 tens = 411 (5 — & = 1) Q00 |eeo Q000
400 300 500 800
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Store .assistant

T

Crossing 10s (Exchanging) | Crossing 10 and 10 Crossing 10s (Exchanging)
o 269
258 + 80 = 338 368 368 (368 +154 Checking Strategies
l £LH23
+ Column method +73 473 +73 @ @ 11
+ Count in10s mentally 1 41 441 514 514 347
1 1) i - 268
+ Add 100, subtract 20 268 ? Sae 273 74
A 3 A 347 — 74 = 273 can be checked using
4&'1 | ;}'&ﬁ 1'41%1 Links to Derbhy .and Careers 273 + 74 = 347
o)) iy /] I'. - {
-T@ ZB UJ?B Links to D‘arbq This part whole shows the inverse calculations using these
8 68 368 - ’;DM R% three numbers.
- ,o,mb,cu
Add/Subtract 1005 Links to Careers @
Add and Subtract 100s - A/OCO,U.I'I.;tU'I.,g e @
284 + 300 = 584 - Finance
Hundred Ten Ones - Trader
- Scientist 154 + 269 = 423 269 + 154 = 423

423 - 154 = 269

423 - 269 = 154




